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. (@ o @ Ry forat: ' ~ 1x4=4
Write True or False :

(i) TSI T T AT SRS ST 91 2 |

Tax is levied on total income of an
assessee.

(i) SIS ATy SRR o= IR T wW
9T 9 =)

The total income of a person is
determined on the basis of his
citizenship in' India.
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(iti) SRPY W G 10(10) @r%2H die

TS TS|

Section 10(10) relates to payment
of ‘gratuity under the Income-tax
Act.

L]

(iv) B T ﬂw e -t

‘HH\\M

(b) N B ST A
Fill in the blanks :

(1) HiEes S

ol 2Rl o I T -

Income from house prdperty held
by a local authority shall be

- exempted from tax.

R YA W AS)Le]
e IReflT /@ @t ww Feoferr
IFPWE |

Agricultural income from land
situated in India is fully exempted

under section of the Income-
tax Act. ’

(i) oRey o[t fEfe JPN  TES
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- Y |

Income which accrues or arises

in London from a business

controlled from India is taxable in
the case of ___

( Continued )

1x4=4

¢ 3)

(iii) TR e oift e Rrome
9 98 39 W)

The valué of perquisites is charge-
able to tax under the head ::

(iv) Rt st ‘oot g iRy s@we 4
D, O wil%rczﬂatm

" The rent ﬁxed under "the " Rent
Control Act is called - rent.

2. wﬁqmwﬁmmmﬁ%ﬁﬁmsam

forat : _— 4x4=16
Write ~“short notes~.on any - four of the
following :

(@ Rz :

RIS

Previous year

(b) TR e[k oG
Perquisites
(0 I

Person

(d) ﬁwﬁmﬂﬁmw

Deemed owner of house- property

(e) Fre AATH

Education allowance =~
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3. 95 Jfes b S of @rmw Wéiga sk,

ferat

How will you determine the, residential
status of an individual?

el / or
“Rele T TN SIS WET S 9 W) @)
S e PR o qeer? I W, W
oz 5 59

“Ir——me tax 1s charged on the income of the
p—=us year.” Do you fully agree with this
statement? If not, what are the exceptlons?

4. IIQY W e IECS TN ot Aoy SR

Fae o RawrR @wie Rweal < =, I

] : - : 3x4=12

Explain the treatment of the following items
in computing taxable income 1n case of
income from salary :

(@) Pre

Education allowance

(b) YRR RIS S
Profits in lieu of salary

(c) T T 4TS FBRIA

Leave encashment

(d) T T @2’

Leave travel concession

(5)

: &</ Or ..
B A g6 SRH¥e OBt SepiiT caife “iReles |

Mr. A is a manager of an industry at
Guwahati. The particulars - of his salary

-income are as follows :

(i) T w98l—50,000 51 ofS Tz
Basic salary—< 50,000 p.m.-

(ii) R AW (50% R 56 Wﬁ oANE)—
10,000 Bt afS Wiz
Dearness allowance (50% of this is in
terms of employment)—X 10,000 p.m.

(iti) SR-2AA IG—1,500 53t 2ifs Wz
Entertainment allowance—’ic 1,500 p.m.

(iv) Bt IA5—600 Tt eﬁ% R
Medical allowance—% 600 p.m.
(v) T4 SIPR IMG—12,000 53t 4fS g
" House rent allowance—% 12,000 p.m.
(vi) T ©Iel 7 W—16,000 G 4fS W
Rent paid for the house—< 16,000 p.m.
(vii) 1-2 FooR =feT THINBt 93w MR @9
T IR = W WA I ©
PR PN IER I FE PR
TSR 4T 32 ]|
Car of 1-2 litres capacity is prov1ded by

the employer for private and official
use. Employer meets expenses of car.
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(vii) Brmt - A5 (FofBT  w- cma‘ﬂa AR)—
6,000 G | o
. Education allowance (for three ch1ldren)
—% 6,000

(uc)ﬁ?m Aqi%;st@aw 2,000 5= wﬁm IR
Mr. A paid ¥ 2,000 for his professwnal
tax.

202324@3@%@@&@%@31%

sifesa oty 401
C—oute income under the head. salary for
the - Assessment Year 2023-24.

. wﬁmwm%{wvmmmﬂqw
W) R WiEH, 1961 WA 1-WRES 9z-
Wﬁa@ﬁwﬁ?wmﬁwmﬁq-
ol Reeprg S 31|
Define annual value. How'is it -determined?
State the provisions of the Income-tax

Act, 1961 relating to computation of income
from house property, self-occupied house

property b
o®Jt / Or '
wore firt Reweriz fogars el DI ai-awmw

G =/ .
Mr. D'is the owner of a house property at
Dibrugarh and the part1culars relatmg to the

- house are as follows :

¢Y oR"-—80,000 Bt
Municipal value—Z 80,000

12

3+4+4=11

( Continued )
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T ©FG—89,000 B3t
Fair rent—= 89,000

IS SIBl—74,000 5t
Standard rent—= 74,000

offS Mz 9 el mzzr—moo%zﬂ
The house has been let out for—
% 7,000 p.m.

Rer® 3z93 wAMIY 77 ©iwl 2 W |

There was unrealized rent for 2 months

during the previous year.

e ¢l ~IRTIY. F3—6,000 5t

Municipal tax paid by owner—X 6,000

i ! A OIS AR FI—

5,000 .

Municipal tax paid.by tenant—=< 5,000
2023-24 3 1 27T “iet 2t N6 ISR
oy fdied 310

Calculate net annual value of the house
property for the Assessment Year 2023-24.

(@) TR =ie 72 ¥wl e AR wEER
] Teg gy ot 49 54GAT Sliwe

11

TS TN ST RAE 50T PRt 3+6+3=12

What is capital gain? Distinguish
between short-term capital gain and
long-term capital gain. Briefly explain
the capital gain exempted u/s 54GA.
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< / Or

(b) ST W ol i W R A
WfEH, 19613 ITFPRR ITME WD #4112

Discuss, in detail, the provisions of the
Income-tax Act, 1961 for determination
of income from other sources.’

7. IR IR, 1961 WEA (PR FRIG SIF (-
@D RYPRR St 340 12
Explain the provisions of the Income-tax Act,

1961 regarding carry forward and set-off
losses. , L

Al / Or

(@) I T P @ WY ORI
WWSOWWW%%
@A 4 | 3+5=8

What do you mean by gross total
income? Write down the basic rules
that govern deduction u/s 80.

(b) “SUIY BW ~[1 Al SRS R @6 5 Gl
ot 1 4

Write a short note on income from
other sources.

* Kk Kk
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